
SAP ABAP table ICSPAY {Payment}

ICSPAY

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

SUBCLAIM [CHAR (3)]

PAYMENT [NUMC (5)]

CHANGETIME [DEC (15)]

CHANGEDBY [CHAR (12)]

CREATEDBY [CHAR (12)]

APPROVEDBY [CHAR (12)]

ADDRNUMBER [CHAR (10)]

BKID [CHAR (4)]

CURR [CUKY (5)]

METHOD [CHAR (1)]

REASONREJ [CHAR (2)]

CL_PAYFREQPLAN [CHAR (2)]

SCHEDTYPE [CHAR (2)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 ICSPAY-ADDRNUMBER = ADRC-ADDRNUMBER 
0..N

0..N

BUT0BK

MANDT [CLNT (3)]

PARTNER [CHAR (10)]

BKVID [CHAR (4)]

 ICSPAY-BKID = BUT0BK-BKVID 
0..N

0..N

ICLCLAIM

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

 ICSPAY-CLAIM = ICLCLAIM-CLAIM 
0..N

0..N

ICLSUBCL

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

SUBCLAIM [CHAR (3)]

 ICSPAY-SUBCLAIM = ICLSUBCL-SUBCLAIM 
0..N

0..N

T000

MANDT [CLNT (3)] ICSPAY-CLIENT = T000-MANDT 0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)] ICSPAY-CURR = TCURC-WAERS 0..N

0..N

TFK042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 ICSPAY-METHOD = TFK042Z-ZLSCH 
0..N0..N

TICL112

CLIENT [CLNT (3)]

REASONREJ [CHAR (2)]

APPROV [CHAR (1)]

 ICSPAY-REASONREJ = TICL112-REASONREJ 

0..N

0..N

TICL180

CLIENT [CLNT (3)]

SCHEDTYPE [CHAR (2)]

 ICSPAY-SCHEDTYPE = TICL180-SCHEDTYPE 

0..N

1

TVS010B

MANDT [CLNT (3)]

PKEY [CHAR (2)]

 ICSPAY-CL_PAYFREQPLAN = TVS010B-PKEY 

0..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICSPAY-APPROVEDBY = USR02-BNAME 

0..N

0..N

 ICSPAY-CHANGEDBY = USR02-BNAME 

0..N

0..N

 ICSPAY-CREATEDBY = USR02-BNAME 

0..N

0..N


